2011 B3R T 17— ANVYYISKAKE

TWMEFER TS B8 FRL29F3F168 (K)
(I~ —F AUR)
1-23—h 9-10J—h
AT OwD 1 ) 3 |8 X |IBfI EZJOvD 1 2 3 |8R| X |IBfiI
1 [HASC 3-0 30 4 1 2 2 | 1 |oEBEHALFr—2(A) 2-1 1121 38 P
2 |[oEBEPLFr—2(B)| 0-3 1-2 | 2 3 2 |)KPLUT+—2(B) 1-2 0-3| 2 3
3 |8iLTr—2(=<5)| 0-3 | 2-1 3 2 3 |sPC 2-1 | 3-0 4 1
2 1
3-47—h B T 1e12Od—k
BT OwD 1 2 3 |8 X |IBfI FJOvD 1 2 3 |8R| X |IBfiI
1 | BEEsE 2-1 | 2-1| 4 1 1 PKBELT+—2(A) 1-2 | 3-0 | 3 2
2 |RBLT+—REKIST| 1-2 3-0 | 3 P 1 T 12 [BibT—2kn) | 2-1 2-1 | 4 1
3|E:BLTT—2 1-2 | 0-3 2 3 3 [1E7KAK (2) 0-3 | 1-2 2 3
210
56 1—h 13-143J—h
cOwy 1 2 3 B8R X |IBfI G 0Ov) 1 2 3 |BR| X |IBfiI
1 [KATSUDZ 3-0| -2 | 3 2 2 1| 1DO<IEBBNDIST 3-0 | 1-2 | 3 2
2 |[OEBEHALFr—2(C)| 0-3 0-3| 2 3 2 |[OEBEALFTr—2(D)| 0-3 0-3| 2 3
3 | D<LEERRS.C 2-1 | 3-0 4 1 3 |NEBSTIZT 2-1 | 3-0 4 1
7-83—h 1 2 | 15160 —hk
D>J0OwvD 1 ) 3 |8 X |IBfI HZOwD 1 2 3 |8/ X |IBfiI
1 [TE2KAKR (1) 2-113-0| 4 1 102w I -1 2-1| 4 1
2 | TRRWNFHE 1-2 2-1 1] 3 2 1 2 12 [ KPLFT1—2(C) 1-2 1-2 | 2 3
3|5 PO 0-3 | 1-2 2 3 3 |ASPIC 1-2 | 2-1 3 p)
IBERERERE 12F7—L) =T N
T |4ASC bfi7 | Bk sE ofif [KATSUDS T @1 @
2| D ="wIR Bl | WNESTIZT 10| OEBBA LT+ —2(A) 3F—/L [ 2-3]1-3]1-2
31| OD<K[EEES.C T | TE2KAR (1) 1L | HEBL T — 2SS T
ART|SPC 81 |BIILT+—2WpN) |12 | DLILBBH D= T

AKRZ= : BR24B0K) wmEMXILIAEEE



2011 B3R T 17— ANVYYISKAKE

TWMEFER TS B8 FRL29F3F168 (K)
(2fiIk—FAUR)

1-23—h 9-10J—h

AT OV ) 3 EZJOvD 2 SR i
1 [FASC 3-0 | 3-0 0 2 | 1 {oEBEHLFr—2(A) 2-1 1121 38 P
2 [0EEBREALFr—2(B) 1-2 2 |’KPL7Tv—2(B) 1-2 0-3| 2 3
3 |BIILT—(=<B) 2-1 3 [SPC 2-1 | 3-0 4 1

1 2

3-47—h | T 1e2a—k

BZ'OwD 2 FJ0Ov7D 2 SR y]
1 |EESE 2-1 | 2-1 1 PKBELT1—2(A) 1-2 | 3-0 | 3
2 [ABLFT—RSHKIST 3-0 2 O 1 2|BIILTv—2WdN) | 2-1 2-1 1| 4
3|RBLUTT—2 0-3 3 |[TEKAR(2) 0-3 | 1-2 2

211

56 1—h 13-143J—h

c”Ow? 2 B/= { GJ0Owv7 2 Y]
1 [KATSUDOZ D 3-0| -2 | 3 2 2 o | 1| DLIEBBNIST 3-0 | 1-2 | 3
2 |[OEBEHALFr—2(C)| 0-3 0-3| 2 3 2 |[OEBEALFTr—2(D)| 0-3 0-3| 2
3 | D<K[EERS.C 2-1 | 3-0 4 1 3 |NEBSTIZT 2-1 | 3-0 4
7-83—h 2 0 | 1510 —h

DOV 2 3 |8 HZOwD 2 Be
1 |TE2KAKR (1) 2-113-0| 4 11T =wI2 2-1 | 2-1| 4
2 |INEWHE 1-2 2-11 3 1 T2 kKPLTv—2(C) 1-2 1-2 | 2
3|5 PO 0-3 | 1-2 2 3 |ASPIC 1-2 | 2-1 3

Yo il S IB B e

@

3F—L

2-3

—



